



City of Margate Police Department

ACCREDITED LAW ENFORCEMENT AGENCY



MEMORANDUM

TO: Michael Palma, Captain
FROM: Ryan McCarthy, Lieutenant *RJ*
DATE: February 6, 2018

SUBJECT: Consideration to Upgrade Holsters / Active Shooter Kits

Holsters:

Officers were previously issued a Safariland model 6280 Level II holster. We are now issuing new hires the Level III holster. I recommend that we upgrade the entire department's issued holster to a level III holster. This upgrade will allow our officers an added layer of security for retention of their issued firearm. The level III adds a thumb-break style release before a weapon can be drawn.

The Special Response Team are all issued the Level III holster and I feel that all officers should be afforded this added layer of safety for the retention of their firearm.

A breakdown of the cost is as follows:

109 Sworn Officers (- 15 SRT Operators who are already equipped with a level III) = 94 (+ 10 for new hires and spares)

Level II Cost = \$109.00 each x 104

Level III Cost = \$119.00 each x 104

Recommended total expenditure for holster	<u>\$12,376</u>
---	------------------------

If this is approved, I recommend purchasing as soon as possible to incorporate the new holster into our upcoming firearms training and weapons retention DT Training.



City of Margate Police Department

ACCREDITED LAW ENFORCEMENT AGENCY



MEMORANDUM

Critical Incident/Active Shooter Response Equipment:

A proposal was previously submitted in February of 2017 for critical incident/active shooter and medical equipment. This equipment will provide an added level of safety to officers responding to a critical incident/active shooter situation. I requested MPO Pellegrino update the quotes obtained previously and the figures are as follows:

Ballistic helmets, Rifle Plates and Carrier, "Police" ID labels	\$61,525.00
Rifle and Glock extended magazine (2 per officer)	\$9,670.00
5.11 bail out bag (to carry the kit)	\$5,060.00
Tourniquet, chest seals, trauma dressing, and hemostatic bandage	\$7,596.50

Total for Crisis Kits: \$83,851.50

The total requested expenditure for the Crisis Kits and Holsters is - **\$96,227.50**

I concur with this budget REQUEST AND
RECOMMEND we facilitate this REQUEST ASAP.
Capt M. Pahl 5019

TO: Chief Watson

 02/26/18

GOLD COAST



ARMORY

Rep: Austin
Date: 3/8/2018
Valid Until: 3/15/2018

Quote Prepared For:

Sgt. Lori Eller
Margate Police Department

Ship To:

Margate Police Department
5790 Margate Blvd
Margate, FL 33063

Product	Description	Qty	Price	Total
MF22222	GLOCK FACTORY G22 .40 S&W GEN 4 22 ROUND MAGAZINE (320 Mags Total)	230	\$30.95	\$7,118.50
PMAG571BLK-6PACK	(6) MAGPUL PMAG AR-15 .223 / 5.56 GEN 2 MOE 30 ROUND MAGAZINES - BLACK (228 Mags Total)	38	\$56.99	\$2,165.62
MAG571BLK	MAGPUL PMAG AR-15 .223 / 5.56 GEN 2 MOE 30 ROUND MAGAZINE (BLACK) (2 Mags Total)	2	\$9.49	\$18.98
			Sub Total:	\$9,303.10
			Shipping:	\$29.87
			Grand Total:	\$9,332.97

Gold Coast Armory

7000 W Plametto Pk Rd, Ste 409
Boca Raton, FL 33433
561-257-1434



Lee Gordon
Advanced Firearms Group
2175 North State Rd 7
Margate, FL 33063



(954)968-4867
www.advancedfirearmsgroup.com

Quote for the following:

230ea	Magpul P-Mag MOE 30rd w/o window@ \$9.68ea	\$2420.00
230ea	Glock Extended 22rd .40SW Magazine@ \$29.00	\$7250.00

We thank you for the honor and opportunity to do business with our local law enforcement partners and look forward to a future of serving your Department. If you have any questions, feel free to contact us at information listed above.

God bless and be safe...

Lee Gordon, President Advanced Industries



QUOTATION

Quote Date: 3/6/2018
Quote Title: Duty Gear Quote
Contact: SGT. Eller

Customer Name:

Address:

Phone Number:

Fax Number:

Email Address: eller@margatefl.com

Quantity	Item Number / Item Description	Unit Price	Line Total
115	5.11 Bail out Bag	\$55.00	\$6,325.00
115	(7360-832) Safariland Glock 22 W/ TLR-1 Holster (R/H:110, L/H:5)	\$135.00	\$15,525.00
230	AR-15 MagPul	\$20.00	\$4,600.00
230	Glock 22 Extended 40 SW mag	\$25.00	\$5,750.00
		Grand Total	\$32,200.00

Comments:

Delivery Time:

Payment Terms: Net 30 Days

Freight Terms:

Validity Date:

Quoted By: Broward Store

Thank you for allowing Federal Eastern International, Inc. to provide you with a quote. If you require further assistance, or have any additional questions, please contact us at:

Corporate Mailing Address: 1523 Chaffee Road S, Unit 12, Jacksonville FL 32221

Telephone Number: 727-827-2997 Fax Number: 727-954-8804

Website: www.fedeastintl.com

Police Supply and Armor Service Centers: Pinellas County: 2870 Scherer Drive #300 St. Petersburg, FL 33716 * Miami Dade: 9024 NW 25th St, Doral FL, 33172 *Broward County 9 N State Road 7, Plantation, FL 33317

C6 Tactical Corp

3887 NW 107 AVE.

Unit 107

Doral, FL 33178

Phone (786) 485-4589



Quotation

DATE 2/6/2018
Quotation # 02062018-01
Quotation valid until 5/31/2018

Bill To:

Margate PD

Comments or special instructions:

TOTAL \$ 5,060.00



Quote

Customer: (5416817) CITY OF MARGATE POLICE
Date: 03/07/2018
Sales Rep: LINA HESTER

Page 1 of 1
Quote Number: 10103915
Quote Expiration: 06/05/2018

Sold To:
MARGATE POLICE DEPT
5790 MARGATE BLVD
MARGATE, FL 33063
LORI ELLER

Ship To:
MARGATE POLICE DEPT
5790 MARGATE BLVD
MARGATE, FL 33063
LORI ELLER

Line	Item	Description	Qty	Retail	Your Price	Ext Total
1	FA240 BLK	C-A-T TOURNIQUET	115		26.57	3,055.55
2	FA874	ASHERMAN CHEST SEAL DRESSING	60		12.01	720.60
3	FA283 BLK	Z-FOLDED COMBAT GAUZE LE	115		42.89	4,932.35
4	FA245	ETD EMERGENCY TRAUMA DRESSING ABDOMINAL STUMP	115		10.99	1,263.85
5	BG397 BLK	BAIL OUT BAG	115		43.13	4,959.95
6	ZW048 SPRH 832	ALS/SLS LEVEL III MID RIDE DUTY HOLSTER	110		129.60	14,256.00
7	ZW048 SPLH 832	ALS/SLS LEVEL III MID RIDE DUTY HOLSTER	5		129.60	648.00

Quote is valid for 90 days

SUBTOTAL: 29,836.30
SHIPPING: 150.00
TAX.....:
TOTAL...: 29,986.30

Galls is required to collect sales tax on shipments to certain states. Sales tax will be added where applicable. For tax exempt customers, state laws require us to have signed tax exemption or resale certificates on file at our office. If you are tax exempt, please email or fax this information, (including your Galls account number) to Tax@galls.com or fax 859-268-5946.

Export Restrictions - This may contain commodities restricted in the United States International Trade Regulations.

1340 Russell Cave Rd
Lexington, KY 40504
Tel: 800-876-4242 Fax:877-914-2557

Galls, LLC Invoice Credit Terms and Conditions of Sale

Payment - Invoices for items delivered pursuant to any sales order are payable only in United States currency. You, your business, and/or your agency (the "Buyer") understand that Galls, LLC (the "Seller") may impose and charge a finance charge that is the greater of 1.5% per month or the highest rate allowed by law on any amount which becomes past due and delinquent. Returned checks may be assessed a \$25.00 service fee. Additionally, Buyer shall be responsible for all collection costs, court costs, and reasonable attorney's fees in connection with the recovery of delinquent amounts.

All sales are made pursuant to these Credit Terms and Conditions of Sale, and Seller objects to any different or additional terms or conditions contained in Buyer's purchase order or any other document submitted by Seller. Payments may be applied against open balances at the sole discretion of Seller and may be applied across accounts if Buyer has more than one account with Seller. Credit memos are non-refundable and may be applied to open invoices at Seller's sole discretion.

Credit Terms - Any extension of credit is based upon all amounts payable on or before the due date on any written, quoted, or agreed terms, and shall be paid in accordance with such terms. If not paid on or before such date, accounts shall be considered delinquent and subject to the additional finance charges as set forth herein.

Buyer agrees to provide Seller, upon request, with an updated credit application as a condition to the continued extension of credit. Buyer acknowledges and agrees that Seller may utilize outside credit reporting services and financial institutions to obtain information on the Buyer as a condition precedent to or for continued extension of credit. Seller may terminate any credit availability within its sole discretion and without prior notice. Buyer's continued solvency is a precondition to any sale made by Seller.

Delays - Where a specific shipping date is not designated on the face hereof or in a subsequent writing signed by the Seller, the Seller shall not be responsible for any delays, nor shall Seller be liable for any loss or damages resulting from such delays. Seller shall not be liable for any delays in filling this order caused by accidents to machinery, differences with employees, strikes, labor shortage, fire, floods, priorities requested or required by an instrumentality of the United States Government or the government of any state, delays in transportation, restrictions imposed by any federal, state or municipal law or regulation, whether valid or invalid, or causes beyond the control of the Seller.

Warranty - Seller shall pass through to Buyer all manufacturer warranties and return policies applicable to Buyer's order. Seller shall take all reasonable actions to ensure that Buyer receives the benefit of such pass through warranties and return policies. Buyer's sole remedies for any goods sold hereunder shall be as provided in such warranties and return policies and shall be solely against the applicable manufacturer. SELLER, ON BEHALF OF ITSELF, DISCLAIMS ALL WARRANTIES, WHETHER EXPRESS, IMPLIED, OR STATUTORY, RELATING TO SUCH GOODS.

Restocking - If a cancellation of an order or a return by Buyer is accepted or initiated by Seller and/or the manufacturer, it may be subject to a restocking charge at the discretion of Seller.

Delivery and Transportation - Products sold herein are sold FOB at the place indicated on the face of this sales order unless otherwise agreed to in writing by Seller and Buyer. The method and agency of transportation and the routing will be designated by the Seller. In the event the Buyer requests alternative shipment or routing, all extra packing, shipping and transportation charges thereby resulting will be for the Buyer's account.

Waiver - No provision herein shall be deemed a waiver by reason of any previous waiver, and no breach of any provision shall be deemed a waiver by reason of any previous breach.

Governing Law - The sole jurisdiction and venue shall be the courts of the Commonwealth of Kentucky.

Export Restrictions - This transaction may contain commodities restricted in the United States International Trade Regulations. If at a later date the Buyer decides these commodities will be exported from the United States please reference the United States Department of Commerce Bureau of Industry and Security Export Administration Regulations (15 CFR 730-774), the United States Department of State International Traffic in Arms Regulations (22 CFR 120-130) as well as any other applicable laws. These laws apply to private, commercial, and government agency export transactions. As an exporter, the Buyer will be responsible for compliance with all U.S. laws relating to the export of these items.

*Designates this item is on the Galls GSA Contract (GS-07F-0157M) all other items are OPEN MARKET.



NORTH AMERICAN RESCUE
www.NARescue.com • 888.888.8277

35 Tedwall Court Greer SC 29650
Phone: (864) 675-9800
Fax: (864) 675-9880

QUOTE

QUOTE

Q36407

Quote Date: 01/18/2018

BILL TO: 17520

CITY OF MARGATE
POLICE DEPARTMENT
5790 MARGATE BLVD
2ND FLOOR- POLICE SIDE
MARGATE, FL 33063

SHIP TO:

CITY OF MARGATE
POLICE DEPARTMENT
5790 MARGATE BLVD
2ND FLOOR- POLICE SIDE
MARGATE, FL 33063
P: (954) 972-6454

Entered By: Amanda Winter

awinter@narescue.com

Date/Time Printed: 01/18/18 15:46

Contact Name	Contact Phone	Shipping Method	FOB Type	Payment Terms	Master #	Exp. Date
JASON PELLEGRINO	9546051645	970-BESTWAY	ORIGIN	NET 30	303,374	02/17/2018

Quantity	UOM	Item Number	Item Description	Item Weight	Ext. Weight	Unit Price	Extended Price
115	EA	30-0001	TOURNIQUET, COMBAT APPLICATION - BLK	0.19	21.85	\$22.11	\$2,542.65
60	EA	10-0037	DRESSING, CHEST SEAL - HYFIN (VENTED) TWIN PACK	0.30	18.00	\$10.94	\$656.40
115	EA	30-0109	HEMOSTATIC BANDAGE, COMBAT GAUZE w' Z-FOLD - LE	0.30	34.50	\$33.98	\$3,907.70
115	EA	30-0031	DRESSING, EMERGENCY TRAUMA - 4" (NAR)	0.13	14.95	\$3.65	\$419.75

Please visit us at www.narescue.com

NAR TAX ID: 27-1024029
NAR DUNS: 832426782
CAGE CODE: 06ST7
Subject to NAR's Terms & Conditions. For details, please visit:
<https://www.narescue.com/legal/terms-and-conditions>.

Subtotal	\$7,526.50
Discount	\$0.00
Freight	\$70.00
Tax	\$0.00
Total	\$7,596.50



Estimate

Tactical Medical Solutions, Inc.

1250 Harris Bridge Road
Anderson, SC 29621
864-224-0081
www.tacmedsolutions.com
Tax ID # 20-4468032
GSA #: GS07F0163Y

Date 3/7/2018
Estimate # EST83134
Acct. No. 15859
Expires 5/6/2018
User Kristie Herron
GSA # GS07F0163Y

RFQ #

Comments

seller@margatefl.com

Bill To	Ship To
CITY OF MARGATE PD 5790 MARGATE BLVD 2ND FLOOR POLICE SIDE MARGATE FL 33063 United States	CITY OF MARGATE PD 5790 MARGATE BLVD 2ND FLOOR POLICE SIDE MARGATE FL 33063 United States

Item	Quantity	Units	Description	Rate	Amount
SOFTT-W	115	Ea	SOF TACTICAL TOURNIQUET, 1.5", BLACK	22.40	2,576.00
HYFIN-VENT2	60	Ea	Hyfin Vent Chest Seal Twin Pack	15.32	919.20
CG-LE	115	Ea	LAW ENFORCEMENT Z-FOLD COMBAT GAUZE	39.54	4,547.10
OAL-4	115	Ea	4" OLAES MODULAR BANDAGE	4.54	522.10

Subtotal 8,564.40
Shipping Cost (FedEx Ground®) 67.20
Total \$8,631.60

Additional shipping charges may apply if the order is placed. Estimates are valid for 60 days

GL Distributors, Inc.

18459 Pines Boulevard, Suite 340
 Pembroke Pines, FL 33029
 Phone: (954) 441-1473
 Contact: mark@gldistributors.com



Quotation

DATE	QUOTE #
1/30/2018	12738

NAME / ADDRESS	Ship To
Margate Police Department Attention: 2nd Floor Admin 5790 Margate Boulevard Margate, FL 33063	Margate Police Department 5790 Margate Boulevard Margate, FL 33063

PROJECT NAME	VALID THRU	PAYMENT TERMS	FOB	LEAD TIME
	4/30/2018	Net 30	Destination	

ITEM	DESCRIPTION	QUANTITY	PRICE	TOTAL
NASPO-GH ARMOR	Body Armor is on Florida Contract # 46151504-NASPO-17-ACS (NASPO Master Agreement # 2016-179). GL Distributors is an Authorized Distributor for the Body Armor Below.		0.00	0.00
CON201042-002	Sentry Lightweight Plate Carrier, Black	115	50.00	5,750.00
IDPLACARD	ID Placard, Specify	115	15.00	1,725.00
GH-306-1808-10X12SH	ID: POLICE FRONT AND REAR (SET OF TWO) Gator Hawk Armor 306-1808 Rifle Plate, NIJ 0101.06 Level III+ Stand Alone w/ Special Threats, Shooters Cut, Single Curve, 10"x12", 7.3 Pounds, Line-X Coated, 10-Year Warranty	230	85.00	19,550.00
GH-HB1-ACH-M	ACH IIIA Helmet - Mid Cut	115	300.00	34,500.00

Visit us online at www.GLDISTRIBUTORS.com

"PROTECTING THOSE COMMITTED TO
 STANDING IN HARM'S WAY"

Subtotal \$61,525.00

Sales Tax (6.0%) \$0.00

TOTAL \$61,525.00

Quote Provided by: Mark Altman

Lou's Police Distributors, Inc.

7815-West 4th Ave
Hialeah, FL 33014
Phone (305) 416-0000 Fax (305) 824-9205



Quotation

DATE February 6, 2018

Quotation # 1518MS
Customer ID

Bill To:

MARGATE POLICE DEPT.

Quotation valid until: March 8, 2018

Prepared by: MARLENE SILVA

ATTN: JASEN PELEGRINO

Comments or special instructions: